8.4 Properties of Logarithms

Logarithms solve for CADMLA +5 . This means that properties of logarithms are very similar to

properties of exponents.

Recall the following:
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{ j 1) Expand each logarithm.
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2) Write each expression as a single logarithm.
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3) Expand and simplify log, x7.
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4) Expand each logarithm.
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5) Rewrite each expression as a single logarithm.
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Notice that the Iog button on the calculator won’t allow you to change the base of the logarithm. It always
assumes the common logarithm. To evaluate a logarithm with any base, use the CHANGE OF BASE
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Whereb # 1,c = 1.

6) What is the value of each expression? Give an exact and an approximate answer.
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